
WJEC 2015 Online Exam Review

GCSE METHODS IN MATHEMATICS UNIT 1 FOUNDATION 4363-01

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 404 7.3 2.1 10 72.8 100

2 403 1.3 0.8 3 44.1 99.8

3 403 3.5 0.9 4 86.6 99.8

4 404 4.1 1.6 7 58.7 100

5 399 2.7 1.5 5 54.7 98.8

6 396 4 2.4 8 50 98

7 403 3.8 1.1 5 75.8 99.8

8 383 1.2 1.1 4 30.5 94.8

9 373 1.6 1.2 3 54.2 92.3

10 398 3.4 2.4 11 30.7 98.5

11 398 2.9 2 6 48.8 98.5

12 393 1.3 1.1 4 31.9 97.3

13 335 1.1 1.5 5 21.6 82.9

14 325 0.1 0.4 5 2.8 80.5
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	Item Level Data
	Facility factor graph
	Question 2
	Mark scheme
	Example 1
	Example 1 marked


	Question 4b
	Mark scheme
	Example 1
	Example 1 marked


	Question 5
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 6
	Mark scheme
	Example 1 
	Example 1 marked

	Example 2
	Example 2 marked


	Question 7
	Mark scheme
	Example 1 
	Example 1 marked

	Example 2
	Example 2 marked


	Question 9
	Mark scheme
	Example 1
	Example 1 marked
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Sticky Note

(a) BG being horizontal was a common error.
(c) The vast majority of candidates wrote another set of parallel lines rather than perpendicular.
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2.
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F G


A line is described 
using two letters.
This line is written
as CG.


	 (a)	 Use a pair of letters, as above, to describe a line which is horizontal.	 [1]


The line . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . is horizontal.


	 (b)	 Use a pair of letters, as above, to describe two lines which are parallel to each other.	[1]


The line . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . is parallel to the line . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  .


	 (c)	 Use a pair of letters, as above, to describe two lines which are perpendicular to each
other.	 [1]


The line . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . is perpendicular to the line . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  .
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	 (b)	 There are 50 members in a tennis club.
Some of these members have visited the Wimbledon Championship and some have not.
This information is displayed in the following table.


		 What is the probability that a member chosen at random


(i)	 is male?	 [1]


(ii)	 has visited the Wimbledon Championship?	 [1]


(iii)	 is a female who has not visited the Wimbledon Championship?	 [1]


Male Female Total


Visited Wimbledon
Championship 24 5 29


Have not visited
Wimbledon


Championship
6 15 21


Total 30 20 50
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Sticky Note

0.4x5=0.2, 25-6x5=5, -3-2=1 were common errors. A number of candidates did not answer the square root of 81.












Sticky Note

-3-2=-1, 25-6x5=95, -7+9=-16 were common errors seen.
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5.	 Write down the answer to each calculation in the space provided.
	 Match the calculations that have the same answer.
	 One has been done for you.	 [5]


28 ÷ (4 + 3)


= .................


–3 – 2


= .................


25 – 6 × 5


= .................


0·4 × 5


= .................


21 – 4 × 3


= .................


22


= .................


–7 + 9


= ................. = .................


30 + 18 ÷ 3


= 36


62


= 36


81












Sticky Note

A number of candidates compared Holystack and Beaucastle only.  They did not attempt to calculate the weekend rates.  This candidate scraped 1 QWC for attempt in written communication.  There was no clear structure to this answer. 

















Sticky Note

Here is a question where the QWC was assessed. The candidate achieved 2 marks for the QWC.  The structure is very clear and the candidate achieved 1 mark for this. In addition, although they hadn't written very much, they gained another mark for sufficient labeling, use of £ and written communication.















Sticky Note

Q8a) 13/20 was a common error.













Sticky Note

Q8a) Candidate could answer correctly 13/10 but did not convert to a mixed number.

Q8c) 15/60 simplified to 3/12 and not fully simplified to 1/4 seen very often.













Sticky Note

This error was seen often.  Candidate choosing the wrong two equal angles in the isosceles triangle. 






















6.	 You will be assessed on the quality of your written communication in this question.


	 Anthony, Blodwen and their two children go swimming every Saturday and Sunday for a whole
year.


	 The family can go swimming at the Holystack Leisure Centre or the Beaucastle Leisure Centre,
which are both local.


	 At each leisure centre it costs £3 for an adult and £2 for a child to go swimming.


	 The leisure centres have the following membership offers available.


	 The family want to pay as little as possible.
	 Should the family pay every Saturday and Sunday or choose one of the offers available at the


leisure centres?
	 You must show all your workings, and give a reason for your answer.	 [8]


	


	


	


	


	


	


	


	


	


	


	


	


HOLYSTACK LEISURE
CENTRE


Yearly family membership
£800


(2 adults and 2 children)


Beaucastle
leisure centre


monthly family
membership


£100


(2 ADULTS AND
2 CHILDREN)

















7.	 (a)	 Write down the next term in the following sequence and describe the rule for continuing
the sequence.	 [2]


5,               11,               17,               23,               . . . . . . . . . . . . . . . . . . . . . . . . .


		  Rule:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (b)	 The diagram below shows a number machine.


	 	 Using the number machine, calculate


	 (i)	 the OUTPUT when the INPUT is 7	 [1]


	


	 (ii)	 the OUTPUT when the INPUT is –5	 [1]


	


	 (iii)	 the INPUT when the OUTPUT is 10.	 [1]


	


INPUT SUBTRACT
3 DIVIDE BY 2 OUTPUT

















9.


70°


x


Diagram not drawn to scale


	 Find the size of angle x.	 [3]


	


	


	


	


	











